ANTARI HZ-9400
Fog machine

Service-manual
Serviceunteriagen
Documents techniques
Documentos de servicio



Spare-parts list

No. Designation - German Designation - English Designation - French Designation - Spanish
E3047810 |Platine fur HZ-400 PCB for HZ-400 Platine pour HZ-400 Platina para HZ-400
E3047811 |IC M254U6 fur HZ-400 IC M254U6 for HZ-400 IC M254U6 pour HZ-400 IC M254U6 para HZ-400
E3047812 |IC S254U5 fir HZ-400 IC S254U5 for HZ-400 IC S254U5 pour HZ-400 IC S254U5 para HZ-400
E3047815 [Netzschalter fir HZ-400 Power-switch for HZ-400 Netzschalter fir HZ-400 Netzschalter fir HZ-400
E3047816 |Netzanschlussbuchse fur HZ-400 Powermains switch for HZ-400 Douille d'alimentation sur secteur HZ-400 Casquil.de alimentacién de red p. HZ-400
E3047817 |XLR-Einbaubuchse 5-polig fur HZ-400 XLR-mounting socket 5-pins for HZ-400 XLR-douille encastrable a 5 pbles pHZ-400 XLR-casqu.incorp. de 5 alfileres p.HZ-400
E3047818 |XLR-Einbaustecker 5-polig fur HZ-400 XLR-mounting plug 5-pins for HZ-400 Fiche-XLR encastrable a 5 pdles p.HZ-400 Clavija-XLR incorp.de 5 alfileres pHZ-400
E3047830 |Lufter fir HZ-400 Fan for HZ-400 Ventilateur pour HZ-400 Ventilator para HZ-400
E3047831 |Fernsteuerung fiir HZ-400 Remote-control for HZ-400 Télécommande pour HZ-400 Telemedida para HZ-400
E3047832 |Kompressor fiir HZ-400 Compressor for HZ-400 Compresseur pour HZ-400 Compresor para HZ-400
E3047833 |Kondensator fur HZ-400 Capacitor for HZ-400 Condensateur pour HZ-400 Capacitor para HZ-400
E3047840 |Schwingungsdampfer fir HZ-400 Damper for HZ-400 Schwingungsdampfer fiir HZ-400 Schwingungsdampfer fir HZ-400
E3047843 |Griff fur HZ-400 Handle for HZ-400 Poignée pour HZ-400 Asa para HZ-400
E3047844 |Deckel fur Fluidbehalter HZ-400 Tank cap for HZ-400 Deckel fir Fluidbehalter HZ-400 Deckel fur Fluidbehalter HZ-400
E3047845 |Fluidbehalter fur HZ-400 Fluid tank for HZ-400 Réservoir pour HZ-400 Receptaculo para HZ-400




O

(]

™o

A 1) B 72

-
| SPARE PARTS OF HZ400 (230V)

HZ04000L C04021

Steel Case/Base Push Buftom/Haze
HZ04000H CO4046E

Steel Case/Cover Fan

HZ040001 C04052

Steel Case/Left Side Guardrail

HZ040002 C04062

Steel Case/Right Side  Knob

HZ040003 C04063

Vent Pilot Lamp Red
HEH10001 C04064 .
Binder Pilot Lamp Green g\
B06254E C04065

C04001 HZ-400E-C1
Rocker Switch/Power  Start Capacitor

P.C Board (not inldude IC) Pilot Lamp Yellow ¥ &

M254U6 C04093

IC(optional) Fuse (TS5A/230V)
S254U5 C05005

IC(optional) Cable & Plug (230V)
BOX004 C05020

Controller Case Cable For Remote Control (1/4 Stereo)
C00065 C15H10E-HE1

P.CB Fastening Screw Collar Power Iniet Socket & Fuscholder
C00106 C15H10E-HE2 N
Triple Connector Control Inket Socket SPin(XLR)
C00107 C15H10E-HE3

Copper Connector For Pump Control Outlet Socket SP(XLR)
C00109 D04022

Fixed Copper Connector For Insest Ring Bushing

C01001 D01003

M4*8L Screw P.C.B. Fastening Pin
C01013 DO01004

M4*8L Screw M3*8L Screw
C02001 DO01017

Magnetized Rubber Guardrail Pin

C02029 D01028

Tank’s Cap M3*10L Screw
C02031 DO1101

Foot M4*8L Screw
C02053 D04103

Handle P.C.B Fastening Screv
C02151 HC-1 UNIT

Pu Tube (68) Black Wired Remote Controller
C02154 HZ0002 a
Shockproof Foot Vapour Tank D
C02155 HZA400EC .
Tube (¢8) Air Compressor L

* Antari Lighting And Effects Ltd.

FRRAREROARS I
i)w;NoHZJ(D-(I}I NOV0306 By YEAN.

C15H10E-HE3

C15H10E-HE

s O[f g@m
C04093

D01017
15H10E-HE2!

o [
s co2031
A =-D01004

——



